oot gbogd

N
Jooooboboooobobooodd
HRERERE

O O O0Ooo-dg ™™

ooooooonon
Joogobg ogod

oo ooon
ooooooonon



0 o
1 0000

2 00
21 DOOO0O0O .. e e s e
22 DOOODOOO0O .. e

3 0000
4 00000
5 0OOOOooOgd

6 UDOUO0ObOOoOobOoaboaooDg
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1 0000

gboboboboooboboboboooooabo,oobobobgoboob. o
gbooo0o,0bdb0ob0ob0obobob0ob0ob RicciDODODODO.
go,0boobobooboobobbobooboobobbooboobooobog,
oooobooo,00b0bbofb0 RicciODOOOODOODOOODOODOO,O0O0
o0.0b00,00b000b0o0ooobogn pracketd0OO00ODOO0ODOODOOO. Riceil
gobooboobooboooboobooboobo,boboboboobooo,boobobo
gbobooobooboobboon.
O00,00000000,0000((QO0O0),0000,0000000 RiceiDOO
ooo,0b00,0000000000DL,0000D0 RicclODOOOOODO.
gboooodobo,obooboboboboobooboboboboobooobooooag,
gbobogooboob.ooboobboobooboboon.



2 00

U0000RicciDO0,000000000DOO0OO0DOOOODOOODOOO.

21 000000

00 2.1. 0000 G/H O reductive:= dp Cg: (Ad |p)-000000 s.t. g=hdp.
00,00000 reductiveO O OO0O.

00 2.2. M = G/H O reductive 00000,g =bh®p 0 reductive 0 000 0.00
00, p 00 Adg-0000 ()0 MODOG-00000000000. 00,0000
G/HO G-0000000000 (G/H,(,)000000000000.

X(M)O MOOOOOOOOOODOO.ODODDOOOOO (Myg) DODODOOOOOO
oo.

00 23. 000000000000 V:X(M)xX(M)— X(M) O Levi — CivitaO O

goo:

29(VxY.Z) = Xg(Y,2)+Yg(Z, X)—Zg(X,Y)
000 +9([X, Y], 2) +9([Z, X].Y) + 9(X, [Z,Y]).

22 0OO0O0O0OOO0ODOO

0000 G/{e} D000. 000000000 (0000 GOO0O0OD0O0OOO0)O,
00 reductive 00 g={0}@gO000.

00 24.g00000,000 GOOoOOOODOOOO.

o0 25. 000000000000 Vigxg—gl Levi-Civita O O0OO :

2VxY, Z) = ([X,Y], 2) + ([Z, X],Y) + (X,[Z,Y]).
(000000000 Levi-CivitaD OO ,000000000000000)
Levi-Civita 000 D00000,000000000000 U:gxg—g 0000,
2AU(X,Y), Z) = (|2, X],Y) + (X,[Z,Y)).

0ooo,uo000000.
00 Levi-CivitaD O 0 VY = (1/2)[X, Y]+ U(X,Y)O0O000O0O.

00 2.6. R(X,Y)Z := -VxVyZ+VyVxZ+Vixy)Z0 O0ODOD0OO00 o000,

00 2.7. Rie(X,Y) := Y(R(X,E)Y,E;) 0 RicciD 0 000 (000 {E} O gO0O
ooooo).



3 Uogg

0000 (ODO0O0)RAE20000000000000OO.000000000.

00 3.1. RH?2:={z€C|Im(2) >0} 000,000 GOO0000DODODOOO00OOOO
O,RH2=G/{e} 000:

G:z{(e y>|x,y€R}.
0 e™®

00000 GoOOo0ooOo,0o0g0ooon:

o={(; 2 1ewerl

000000 {AX}O0O0O0OooOO0O:

=52

0000 bracket 00 [4,X]=v2X 0000.¢g0000000,c¢>00000000
0ooo:

(A, A= 1A Xm0, (X, X) Ve =1,

C

Proof) D0 OO0O0O0O0O0O00O0O0O0DOO o

00 3.2. 00000 bracket 00000000 : [4, X]¢ = cX.
oooo,00

f(e ] <7>1/c) = (g,[,15 ()

0 f(A) =(1/0)A, f(X)=X 000000000 f000000000000000
oo.

Proof)
goobooboobo.oooboog.

Y, ZegOOO,Y =aA+bX, Z=dA+VX(a,b,d,b/ eR)00O0.

1
(Y, z)le = aa’c—2 + bb'.
(V). f(2)) = (acA+bX,d'cA+bX)
= aa’i2 +bb'.
c

Y2 = (F(Y), £(2).



H¥,z])) = f((ab' —d'b)X)
= (abt' —d'b)X.

[f(V), £(2))° = [(a/c)A+bX, (d'/c)A+ V' X]°
= (abt/ —d'b)X.

LY. Z) = WA o

000,g00000 () 000000000, bracketd [[]c00000000000
0000.00000,00000000000,00000000 bracket 100000
0oooooooooooo.

00 3.3.00000 (g,[,]5() 0000000000 :
(WU(A,A) =0, U(A, X) = —(c/2)X, U(X,X) = cA.
(2)VAA =0, VX =0, VxA=—cX, VxX = cA.

Proof)

(1) {4,X} 0 (g,[,)5,(,)) 000000000000O000,000000000000

oo.
<U(A7A)7A> = (1/2)(<[Aa A]C’A> + <Aa [Av A]c =0
{U(4,4),X) = (1/2)(([X, A]%, A) + (A, [4, X]%)
= (—cX,A)=0
S U(A,A) =0
ogoooog,

U(A, X) = —%X, U(X,X) = cA.

VaA = %[A, AFE 4 U(A, A) = 0.
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ooooo,
VaX =0, VxA=—-cX, VxX =cA.

00 3.4.00000 (g,,]¢()0000,000000:
(DR(A, X)A = —c2X.
(2)R(A, X)X = 2 A.

Proof)
R(A,X)A = —VAVXA—FVXVAA-FV[A,XFA
= cVaX+cVxA
= —2X.

R(A, X)X = —VaVxX+VxVaX +VyxeX
= —cV4A+cVxX
= CQA. 0

voo0oo0,000ioooooooooD RX,)Y)Z=-R(Y,X)Z0OOOOOO,O
ugbobooobooboaoboa.

oooo0ooo,00b0bg RiccilDODOODOOODOOOO.

00 3.5.00000 (g,[,]5()0000,000000 :
Ric(Y, Z) = —c4(Y, Z).
Proof) Y, Z egOOO,
Y =adA+ 38X, Z=~7A4+6X (a,(,7,0 € R) 0000

Ric(Y,Z) = Y (R(Y,E:)Z, E;)
= (R(Y,A)Z,A) + (R(Y,X)Z, X)
= (aR(A,A)Z + BR(X,A)Z, A) + (aR(A, X)Z + BR(X, X)Z, X)
= By(R(X,A)A, A) 4+ B6(R(X, A)X, A) + ay(R(A, X)A, X) + ad(R(A, X)X, X)
= By(EX, A) + B6(—*A, A) + ay(—c* X, X) + ad(c*A, X)
= —c*(ay + f9)
= Y, Z). g

U0000,Riccil 00000 0O0O0O0O0OOOOO EinsteinO OO OOO.




4 00000
0D0000000000000000000000.

00 4.1. 0000 g:=spang{A4, X1,...X,_1} 0000, {4, X,... X, 00000
0000000000000, bracket 00000000 .: [4, X,] := ¢Xy, [Xy, X;] =0
oooo (g[,],()000000000.

00 4.2. 00000 (g,[,],() 0000000000 :
(1)U(A,A) = 0, U(A,XZ) = —(C/Q)Xi, U(XZ,XJ) = (SijCA.
(2)VAA = O, VAXZ = 0, VXlA = —CXi, VXin = (SijCA.

Proof)
)
(U(A4,4),4) = (A A]A) + (4,4, 4)
= 0.
U(A4,A), %) = S({[Xe AL A) +{A,[X;, 4)
= (x4 )
= <—C ’HA)
= 0.
U(A,A)
ooooo,
U(A, X;) Xi, U(Xs, X;) = 0ijecA. o
)
VaA = %[A, Al + U(A, A) = 0.
ooooo,

VaX; =0, Vx,A=—cX;, Vx,X; = d;;cA. O

00 4.3. DDDDD (g,[,],(,))DDDD,DDDDDD:

) = 5Z]c A
) =0.
)Xk = (5ch X — (5sz



Proof)
(1)
R(A, Xi)A = —VaVx,A+Vx,VaAd+Vix,A
= —Va(—cX;) +Vex, A
= c¢VaX;+cVx A
= —CQXZ'.

ooooo,
R( 7Xz) = 51‘3'62./4,

R( UX]) = 0,
R(Xi, X)Xy, = 0l Xi — 0uc®Xj.

oboo0oo0,Ricci00OD0OO0OODOODOO.

00 4.4. 00000 (g,[,],(,)0000,000000 :
Ric(X,Y) = —c*(n — 1)(X,Y).

Proof)
O000,Ric:gxg—ROOODODODO,00 Ric(A, A), Ric(4, X;), Ric(X;,A),
Ric(X;, X)) OODODOOOOO.
n—1
Ric(4,A) = (R(A,A)A A)+> (R(A X)X, X;)
i=1

n—1
= —62 Z<XZ, Xz)
=1

= —A(n-1).

noo,
Ric(A, X;) = 0,
Ric(X;,A) = 0,

Ric(Xj, Xz) = (X, Xi) — djpcn.

00000, X,YegOOO,

n—1 n—1
X=a0A+ > 0;X;, YV =FA+) X
j=1



oooo,

n—1

Ric(X,Y) = Ric(and, BoA) + Ric(and, Y 8 X;)
7=1
n—1 n—1 n—1
goooo + RIC(Z a; X, ﬂoA) + RIC(Z ; X;, Z ﬁij)
i=1 i=1 j=1

n—1
= agﬁo(—c2(n — 1)) + Z OliﬁiRiC(Xia XZ)
=1

n—1
= aob(~(n—1) = -1 aif

=1
n—1
= —*n-1) Zazﬂi
=0

= —An-1){X,Y).

00000000, Riecci00000000000000000,00000 (g,[,],())0
Einstein 000000000000,
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5 Uooonbd

00 5.1. 000000 (g[],()0000000000.

g == spanp{A,X,Y,Z} 0000, {A,X,Y,Z} 00000000000000000
O ,bracket 00000000 [A, X] = (1/2)X, [A,Y] = (1/2)Y, [A,Z] = Z, [X,Y] =
Z(0D00O bracket D 0000).

0Dooooo (g),()0000,0000000000.00000000,0000
0000000000000000000000.

00 5.2. 000000 (g,[,],()0000,000000 :

(1) U(A, A) =0, U(A,X) = (—1/0)X, UA,Y) = (~1/9)X, U(A, Z) = (-1/2)Z,
0 UX,X)=(1/2)4, UX,Y)=0, UX,Z) = (-1/2)Y, U(Y,Y) = (1/2)4,

0 U®Y,2)=(1/2)X, U(Z,Z) = A.

(2) VAA=VAX =VAY =V4Z =0,

0 VxA=(-1/2)X, VxX =(1/2)A, VxY =(1/2)Z, Vx(-1/2)Y,

O VyA=(-1/2)Y, VyX =(-1/2)Z, VyY = (1/2)A, VyZ = (1/2)X,
0 VzA=-Z, VzX =(-1/2)Y, VzY =(1/2)X, VzZ = A.
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00 5.3.000000 (g,[],(,)0000,000000 :

~— Y — ~— ~— ~— ~— ~~—

A~ A~ N~ — ~ N =~ o~/ o~ =~

Mok R s = NRN N BT N RN NN RN N
TSI SISl EE RN e
EEFEECREREERNRRNECANRNREEETEEERERERERE RN

(X1, X2).

12

RiC(Xl,XQ):—
O00000,000000 (g,[,],(,) 0 Enstein0DOODD000000O0ODODOO.

0000000, Riecci00000000000.
00 5.4. 000000 (g[],(,)0000,000000 :

X, X, eg000,



6 UUOLbbooobooooobod

gob,00b00bo0ooboobboob,gdb00b0oOobbbOOn Rice
ubooooooon.

¢g0000000000 R2000000000,00 g:=R20000000.¢g000
{AX}00000000 :

A (O) e X (0) e

OO0 bracket 00 O00O0O0O0ODOOOO :
[61,62] = \/562.
o I I A A I

(Y, 2)9 = (gY,9Z) (g9 € GL(g)).

oboooobobo,0b0obobboobgboypracket 00000000 0OODOOOO
obooo00o,00000000 RiecelODOOOOOO.

00 6.1. g00000 brackt 010000000 :
Y, Z]% .= glg'Y, g7 Z].
0ooo,00

fie L] 6 = (8.1, ()
0 f(Y)=¢Y 0OODODO0OO00, f00000000000000000.

Proof) 0O, 0000000.000000.

Y,2)" = (9Y.9Z)

[f(Y), f(2)) = [gY,9Z)
= glg " (gY),97"'9Z]
= glY.Z]
= [(Y,Z2).o
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gooo,
(911 g12>
g =
921 922

2
le1,e2)? = m(gwﬁ + go2e2)

ooo.000,

goo.

uboobog,bgobbooboobog.

00 6.2. 00 (g,[,]() 00000000000 :

2
U(elael) = —\2;522627
1
Uler,e2) = ﬁTetg(ngel_ngez)’
V2
Uleg,e2) = def;%l'

Proof) 00000000, 0000000000000O00O0ODOO.

<U(€1761)7€1> = <617[€1761]g>
= 0.
(Ul(ei,e1),e2) = (e1,[e2,e1]?)
_ _\/5912
detg
. \/5912
.Uler,e1) = — detg €s.
0oooo,
Uler,e2) = #( e1 — g22€2)
1,€2 \/idetg g12€1 — g22€2),
\@922
Uleg,e2) = dety er.
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00 6.3.00 (g, [,],() 00000000000 :

Ve, — _\/§Q1Q€
e1 €1 detg 25
\5912
ve162 = detg 617
\/5922
Ve,e1 = — detg €2,
V2922
v6262 = detg er.
Proof)
1
Ve e1 = 5[61761]9 + Ul(e1,e1)
= U(el, 61)
V2012
detg >
ooooo,
\@912
Ve €2 = detg €1,
\@922
Ve,e1 = — detg €2,
V. e — \/59226
ea €2 detg 1- ]
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00 6.4. 00 (g,[,)9,(,) 0000000000 :
2(g35 + 932)

R - _
(e1,€2)e1 [dotg)?
2(g7; + 93)
R SAJ12 T 922)
(617 e2)es (detg)2
Proof)
R(e1,e2)er = —Ve,Veser + VeaVerer + Vi, ey10€1
\/5922 \/5912
= detg Ve, €2 — det Ve, €2 + detg (912ve1€1 + 922V6261)
2 2
- W(ngﬂel — G12922€1 — 122 — g22€2)
__209f2+95)
(detg)?
ooo,

2(g75 + 93)
R(e1,e2)es = W@l. O

oboooooo,00000000b00bbbg RiecelDOODOOOOOOOO.

00 6.5. 00 (g,[,]9,(,)) 0000000000 :

: 2(gt2 + 9%)
Ric(Y, Z) = —WQ@ Z).

Proof) 0 0, Ric(es,e;) (i,j=1,2) 0000.
Ric(e1,e1) = (R(e1,e)er,e)

2(975 + 932)
(detg)?

noo,
Ric(ei,e2) = 0,
Ric(eg,el) = 0,

2(g3 + 95)

RiC(eg,eg) = — (detg)2
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000,Y,Zeg0000,Y =ae; +bey, Z =de; +be; 1000,

Ric(Y,Z) = ad'Ric(e,er) + bb'Ric(es, e2)

2(9%2 + 9%2) / /
e bb
(detg)? (aa + 55

2(g72 + 95»)
= YT IRy g
(detg)? {V,2). o

0000000,00000000000000000 Einstein000000000000O
0.00,detg 000, g1o#£0000 g #00000000,00000 Ricci OO
00000000,¢g0000000 Rie(Y,Z)—0000000000.000,

(1t 0
= ()

ubbo,t—0000000.

gooo

1) 0000,00000000000, 2006.

2] 000,300 Le0O0OO0OOO0OO0OODOOOOOOOO RiemannO0O, 0000000
oooooz2004000000, 2005.

3] 00000,000000 (0),000000, 1993.
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